000
ﬁl\

TEPCO

BN H = 5T

yillEsis

1~ASHRFIFRENOD
%R T r2649 A &5

271

(F#T—5)

H

BMHEEFE@EIZDULNT
o0 B S (0 B A 43)

BT {EBa/B¥

— RTFRE LS PCVH R & Hsys NRFEME
RFIFELE | #B/ VT
155 0.0020 9.9E-7LLF (/77 X0.18) 0.002
251 0.00025LLF 8.0E-7LLTF (HFAR1I2LLTF) 0.0003
IS 0.00013 0.000045 9.1E-7UTF (HFARI2LLTF) 0.0002
451 0.00085F 0.0009
ait #90.1LL7(0.004)

i = EEE (8 A Bl 4

B {EBq/FF

RTFRE LS PCVH R EHsys NERFEE
RFIFELE | #BF/ VT
155 0.0062 1.0E-6LAF (F71X0.21) 0.007
251 0.00049LLF 7TAE-TULTR (FARTLUT) 0.0005
3I5H 0.000036 0.000058LLF 3.0E-6 (FHRI2UT) 0.0001
45 0.00084LLTF 0.0009
a5 $90.1LLT(0.009)

HMEE IREE




2.1 158D H =51

1. RANERIEHER
DEEBH/\—KN (B HiBg/cm?)
oy 7
FRER s bl P i [l Rl wezs | ALAlLEER 4 AMEERGAY 7404—
B 1 | =k [ 35 EHl | agFk | 7403 AL (640 HA
o Cs-134| 59E-6 | 9.8E-6 | 1.5E-5 | 1.5E-5 | 8.3E-6 5.0E-6 TR
Cs-137| 19E-5 | 34E-5 | 53E-5 | 4.8E-5 | 2.6E-5 1.4E-5
[
. Cs—134| 47E-6 | 5.8E-6 | 2.3E-6 |ND(6.3E-6)| 4.7E-6 | ND(8.9E-7) ~
9/8
Cs-137| 1.7E-5 | 1.8E-5 | 8.8E-6 |ND(9.9E-6)| 1.8E-5 | ND(1.3E-6) _ 7414—
BRFRE .
@PCVH A EHsys
@PCVH R EHEsys
. PCVH A& Hsys = = PCVHAEHEsys | RE
% FERB | #%iE
RERE | H 0O (Bg/cm?) (m3/h) B i H A (Bg/cm?) (m3/h)
. |65 134 ND(1.8E-6) Ail[E | Kr—85 9.6E-1 22
Air[E] 22
S S 1 N (07 ) 9/8 | Kr-85 8.7E-1 21
Cs—134 ND(1.8E-6)
9/8 21 ‘ i
Cs-137 ND(2.9E-6) KRFEOBEERHEFHEIZFEHA

k ] (EHDOBERRNHDIEEE. Cs134+Cs13 1A THEN — B SV EFREIRA)
2B EH/N\—iRiRETE
8,559m%/h (8/6~9/8)

3. = &Ml
BEAN—DLDMHEE = (5.8E-6+1.8E-5) X 8559 X 1E6 X 1E-8 =2.0E-3{&Bq/F
PCVA R H A(Cs) = (1.8E-6+2.9E-6) x 21E6 X 1E-8 =9.9E-7{&Ba/BF LT
PCVA R H A(Kr) = (8.7E-1) X 21E6 X 1E-8 =1.8E-1{ZBa/B
PCVAH R H OKr I IRE) = 1.8E+7 X 24 x 365 x25E-19 X0.0022 /0.5 Xx1E3  =1.7E-TmSv/%&
HMMBE BREE 2

2.2 25RO =51

1A ANERIERER _ @7 0=FHrN AN
DS B Bsysti 07 R FRIE R RTFRE 4 A BPOVH A Esys
IRIA | %@ | (Ba/em®) | FiEmY/h) . F -
-‘-‘-@ CS_1 34 ND(SGE_7) -IO 000 E‘"" """" T T ®$;F= 'Qﬁtﬁ
1] . 0 — B
Cs-137 | ND(5.6E-7) y g e
A 245— % 2405—
. Cs-134 | ND(3.7E-7) 00 ; T A T H0O
Cs-137 | ND(5.7E-7) . > >
B . . o " L s . 7405
QR R Bsys AOXANAERRE (T O-TIMN R OEREASDIFEER)  QPCVHREHsys !
FEWE | %E | (Ba/em®) | RERA %iE (Bg/cm®) A | #%iE (Ba/cm®) | FRE(m®/h)
Cs-134 | 8.7E-7 Cs-134 2.5E-7 Cs-134 | ND(1.7E-6)
AiIE 9/5 AiIlE 17
Cs-137 | 2.1E-6 Cs-137 8.2E-7 Cs-137 | ND(2.5E-6)
2.7°0=79M R I D IERE D3R L 2 AT g NSRRI
qeg | R/BIFLBARE RREEE(m?/h) STl 2YERG
- D FEAZE(M3/h) K[EREDFRE10,000m3/h
s B MO R D0 RERE | %3 | Ba/om) | FE(mi/h)
BiIE 23,008 13,008 -
BTE | Kr-85 | ND(5.7E1) 17
9/5 23,829 13,829
9/5 | Kr-85 | ND(5.8E1) 20
3.1 HH = 5 FRF DS fEZE R 2 5TE <A
BSERmEO =(3.7E-7+5.7E-7) X 10,000 X 1E6 X 1E-8 = 9.4E-5{EBa/BFLLTF
BOP[#R % =(2.5E-7+8.2E-7) x 13,829 x 1E6 X 1E-8 = 1.5E-MEBq/FF
PCVAH X A(Cs) =(1.5E-6+2.5E-6) X 20E6 X 1E-8 = 8.0E-7{&Bqg/B5 LT
PCVAH RH AKr) =58E1 x20E6 X 1E-8 = 1.2E+1{8Ba/B LT
PCVAH RAH AKHIEIEE) =1.2E9 X24 X365 X 2.4E-19 X 0.0022 /0.5 X 1E3 = 1.1E-5mSv/&ELLTF

HMEE IREE 3




 OBETFELEE
1.5 ANERIRHER —>e @PCVH R Esys
L-.- ....... 240 5—
.:,---- HO
_____ 748—
DR F4F EER (B HIBa/cm?) ] RTFER @PCVH R EHsys
_ [RFIFE L5 HEBRNYTF - PCVIAEEsysHHO | iiE
= & *EVH 4]
-hi2 = i) Lie) it FiE(m/s) P ol (Bg/cm®) (m3/h)
_ . . u . G134 4.2E-6
SiE Cs-134 1.6E-6 ND(2.1E-6) ND(2.1E-6) 00 &1 E = - 20
Cs-137 8.3E-6 ND(3.2E-6) 3.0E-6 ° -
Cs-134| ND(23E-6) | 84E-6 1.6E-6 o lelel HD(I9E0) 19
9/3 0.01 Cs-137 ND(2.9E-6)
Cs-137| ND(3.6E-6) 2.9E-5 2.4E-6
. PCVHAEHEsysH O | RE
%
5 D B % B8 ST = e ©aom)  moh)
(EHDORTEHENH DB S L. Cs134+Cs13TEHEN—BS L\ EREER) #1E | Kr-85 ND(6.2E1) 20
9/3 | Kr-85 ND(6.2E1) 19
XEFIFELSMASKHERENL, H269.11R7ED
2 B B R EIEEE(MmYs)ZEA
B2 (RFIFELER) =(8.4E-6+2.9E-5) x 0.10 ¥ x1E6 x 3600 x 1E-8 = 1.3E-4{EBo/BF
= (H488/ v F) =(1.6E-6+2.4E-6) x(0.01x5.6 X56)E6 X 3600 x 1E-8 = 4.5E-5{&Ba/H¥F
PCVA X O(Cs) =(1.9E-6+2.9E-6) X 19E6 X 1E-8 = 9.1E-7{&Bo/B5 LT
PCVA R H E(Kr) =(6.2E1) X 19E6 X 1E-8 = 12{&Bo/BELLTF
PCVA R H AKARILIRE) =1.2E9 x24 X365 X3.0E-19 x0.0022 /05 X 1E3 = 14E-5mSv/&ELT
HMBE BRKIE 4
= B =N 1
24 AEREOMHE =L
4 AMEEIRTAY
OmEmELAED—r | | @7
i V% 74048—
/ P A0 HO
Yy T 240h— T
r- A ] >
1 » »
| _
ey QEAEERE LRI —HES SR
1A ANERIEHER
OBEEHLAD/ N N—RA
(BB E LA NS EREA D) (B AIBg/cm?) QBEIHLAMNN—HR%REED
= . FIoV Uy . - R ER LRAN — nE
RME | W8 | SFPEEF | 0L | WL RERE | PR | gm0 Be/om® | (mi/h)
. _ _ _ Cs-134 ND(5.9E-7)
o Cs-134 | ND(5.8E-7) | ND(5.8E-7) | ND(5.7E-7) SIE s 50,000
Cs-137 | ND(9.6E-7) | ND(9.0E-7) | ND(9.0E-7) Cs-137 ND(9.1E-7)
- - _ . Cs-134 ND(6.0E-7)
o Cs-134 | ND(5.9E-7) | ND(5.8E-7) | ND(5.9E-7) o s 50,000
Cs—137 | ND(9.5E-7) | ND(8.9E-7) | ND(8.9E-7) Cs—137 ND(9.5E-7)
R “ht Sz ST FRFEOHRELE R =570 = F
2EEBN/\—RBEE (EHOHERENBDH AL, Cs134+Cs 137 AFHEA — BB BEFERA)
4,470m3/h (8/7~9/1)
3. = 5
BRERMELADN—ILDREE = (5.9E-7+9.5E-7) X 4470 x 1E6 X 1E-8 =6.9E-5{EBq/FFLL T
PR AR LA/ AN — R SRS = (6.0E-7+9.5E-7) X 50000 x 1E6 X 1E-8 =78E-4{EBa/BELL T

MMHE RREE 5




%51 15HEEN/N\—ORREFL(

Al 75 A
ERREERMEE BERNEE. BRERLE M SHETRD S,

FHEH
9H8H dJtit#m 1.0m/s

P4

Cj A V5(P5=0)
V4

Vi— V2

Sq S2

P1 P P2
o] ErreE

S8 L's7 S6

& HER B T €0 KA D)
VO V3
P3

VO : S SRR (m/s)

V1: A= AR (m/s)
V2: /=5 A RE (m/s)

V3: A= AR (m/s)
V4 : A= AR (m/s)

V5: A= AR (m/s)

V6 : HE SR (m/s)

P1: EFREIE A (FLE) (Pa)

P2: T IE 51 (dLE) (Pa)

P3: LEIE F1 (FEE) (Pa)

P4: FHRBIE S (FEE) (Pa)
P5:R/BAIE 71 (0Pa)
P://3—AE A (Pa)

S1: WA\ —ERIEE (m?)

S2: W\ — AR E R (m?)

S3: /A —[ERIEE (m?)

S4: HA\— AR ERE (m?)
S5:R/BZEREANEE (m?)

S6:R/BXR ik A OB O E#E (m?)
S7:R/BIEE AREEADEE (M%)
S8: HER A I MRAEE (m?)

0 ERBE (ke/m°)
C1: REFREGLE LA
C2: EEFHHCLE T
C3: JEl [T (7 A L
C4: BT ZRE(FER T
¢ ARIER RS

)
)
)
)

HMMEE TR

g

RFEEVET HE, LAl TRADEHGROEESY L%,

FRBIILE) :P1=C1x p xV0"2/(2g) ---(1)
TR (ALR) :P2=C2 % p X V0"2/(2g) ---(2)
L3RRI (FER) :P3=C3 % p xV072/(2g) --+(3)
TR (FER) :P4=C4 x p X V0"2/(2g) ---(4)

REZP. R OETIRHME S LT 5L

P1-P=¢ x o xV172/(2g) == (5)
P-P2=¢ X p XV2°2/(2g) < (6)
P3-P=¢ x p XV372/(2g) s (7)
P-P4=¢ x p xV4"2/(2g) ---(8)
P5-P=¢ X p XV572/(2g) == (9)

ZERRMEABDOIRNTVRH(F
(V1 X S1+V3 X (S6+S7)+V5 X S5) X 3600=(V2 X S2+V4 X (S3+54)+V6 X S8) X 3600

EREEADDEZETYIETHE
Y=(V1 X S1+V3 X (S6+S7)+V5 X S5) X 3600-(V2 X S2+V4 X (S3+S4)+V6 X S8) x 3600

Z1 1 SHEEN/N\—ORRFFTE

V1, V2, V3, V4, V5IF(5), (6), (7), (8), (RIZKY. PORKLZDT, IYINEOIZEEESICPOEEZAET S

Vo C1 C2 C3 C4 IS 1%
(m/s) (kg/m*)
1.00 0.80 —0.50 0.10 -0.50 1.00 1.20
St S2 S3 S4 S5 S6 S7 S8
(m) (m) (m) (m) (m) (m) (md) (m)
1.20 1.20 1.20 1.10 0.29 0.00 0.00 2.88
P1 P2 P3 P4 P5 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.04898 | -0.03061 | 0.006122 | —0.03061 0 -0.0202
Vi V2 V3 V4 V5 V6 Y
(m/s) (m/s) (m/s) (m/s) (m/s) (m/s) (m*/h)
1.06 0.41 0.66 0.41 0.57 0.00 0.00
IN ouT IN ouUT IN OUTHER) OK
XIN  HRA
OUT: i
e s 5196 m’/h
HRIo7UVRE 0 m*h
RiEE 5,196 m®/h

HMEE IREE




%51 15HEEN/N\—ORREFL(

BT EORRETHED (—HD

9838 9848 9A5H 9868 9878 9H8H
RE Bif | RARE | A& BifE | RARE [ RAE By | mEE | AR BifE | RERE [ RE B | mRE | A& Bif | IRiRE
(m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h)
i) 1.1 03 730 0.0 0.0 0 0.0 0.0 0 1.0 0.7 663 18 5.2 1,177 12 43 804
BALAER [ 1.1 2.2 4,109 0.0 0.0 0 0.0 0.0 0 1.0 08 3,837 1.6 5.0 6,031 1.3 32 4,890
JEER 0.9 12 4,095 0.0 00 0 0.0 0.0 0 0.8 1.8 3433 1.1 1.3 5119 1.3 03 5,687
JedtER [ 09 18 477 0.0 0.0 0 0.9 03 4416 08 1.7 4,001 14 2.2 7,274 1.0 0.2 5,196
E1: 14 1.7 6,719 0.0 0.0 0 08 0.8 3,853 0.7 0.3 3,458 20 13 9,695 0.9 03 4,446
ddeER | 22 08 8,166 0.0 0.0 0 0.8 12 3,048 1.7 1.3 6,299 24 0.5 8,705 0.6 0.2 2,207
Fla-: 27 08 12,002 0.0 0.0 0 0.9 1.2 4,061 24 1.0 10,904 30 23 13,698 1.6 08 7,039
HhER | 24 55 14,368 0.0 0.0 0 1.1 0.3 6,670 32 1.0 19,504 24 1.7 14,552 1.9 03 11,520
;N 19 2.7 12,540 0.0 0.0 0 08 0.3 5,386 20 1.3 13,382 1.6 05 10,997 17 05 11,222
HEREEA | 12 0.2 7276 0.0 00 0 0.6 0.2 3,638 2.1 18 12,512 1.2 05 7,074 20 08 12,248
BHRE 1.3 13 5,979 0.0 0.0 0 15 1.0 6,919 1.8 20 7,896 0.9 0.2 4,061 1.7 10 7,671
MEREA | 12 0.3 4,230 37 1438 13,663 38 6.8 13,924 2.1 2.8 7,898 0.7 0.2 2,575 29 50 10,557
1) 1.3 0.5 6,258 3.1 80 15,068 2.9 58 14,157 2.1 15 10,265 0.9 05 4,282 25 15 12,406
MR | 16 28 8,099 20 1.2 10,540 2.7 38 14,232 15 1.3 7,534 08 05 4,157 2.1 27 10,749
FmEE 15 1.7 6,643 0.0 00 0 0.0 0.0 0 13 1.7 5,869 08 0.7 3,754 1.4 1.3 6,199
mEEEA | 00 0.0 0 0.0 0.0 0 0.0 0.0 0 13 15 4,932 1.8 1.5 6,603 15 15 5475
i %@)E 210,882 335,514 256,807 178,134 159,082 173,306 _

1675 DFIREERNSKREZAMEDK DICFHD I D.

N N===RFax-}

/%/%EEIE

STl AR 8/6 ~ 8/12|8/13 ~ 8/19|8/20 ~ 8/26(8/27 ~ 9/2|9/3 ~ 9/8 ~ RHEEAF(MI) | 5l REARE ) | RHEEmMI/h)
ﬂﬁ’?ﬁéﬁi 1,978,251 1,163,453 1,298,676 1,230,406 1,313,724 6,984,509 816 8,559

AR R

£52 ASHRMEEH LAN/ N \—0jREEF

= SPETS

ERRREINEDER, BERNEE. BREEGCENSHETRD S,
= 5tEpl

9F18 JLIE 0.9mis

VO: 4+ KUEE (m/s)
V1:HA—RFH AEE (m/s)
cj i P4 V2: hA—AFH ABE (m/s)
Tva V3: /A — P AEE (m/s)
s2 Va: HA—RFEH ABGE (m/s)
V5: H/8—AFEHE AEE (m/s)
P P:h/\—AE 1 (Pa)
4 s H15— P1: LFEEIE S (ALA) (Pa)
P2 P2: FiREIE A (dLRE) (Pa)
P CH— - _Sg? P3: LEIE /) (FR) (Pa)
ERm 51 R P4: FiRBIE A (FER) (Pa)
BEFFEE = P5:R/BIIE 71 (0Pa)
S1: A N—[EREHE (m?)
& TVS S2: AN—RRIEHE (m®
VO P3 S3: H/A—[EREIEE (m”
S4: HA—EREHE (m”
S5: R EKRIBSEAMEE (m®)
0 - ERBEE (ke/m°)
C1: BE R A LA
Vs P C2: BEFZRHBCLETHD
emamans ) 0T C3: REHRH(FR LA
A=A DFEH A C4: EEZRH(TERATAD
& BIRERGRE

k

P5=0
RFFER

AR RS 9]




£52 4ASHIRHERELRAD/N\—0REEF

REEVEY HE. LR FTRADEAERDEEYER D,

B GILR) :P1=C1 x p X V0™2/(2g) =++(1)
THRAILR) :P2=C2x p X V0"2/(2g) -+ (2)
R (FER) :P3=C3X p XV0°2/(2g) *++(3)
THRMEI(FR) :P4=C4 X p X V0"2/(2g) +++(4)

MEZP. FRBOERRRE  LT5E
P1-P=¢ X p xV1°2/(2g) < (5)
P-P2=¢ X p X V2°2/(2g) )
P3-P=¢ x o xV372/(2g) e (7)
P-P4=¢ X p X V4"2/(2g) +e(8)
P5-P=¢ X p X V5°2/(2g) .. (9)

ZRRHEAZBDOIRNTVRRKIE
(V1 X ST+V3 X S4+V5 X S5) X 3600=(V2 X $3+V4 X §2) X 3600

EDERDDEETYIETDE
Y=(V1 X S1+V3 X S4+V5 X S5) X 3600—(V2 X S3+V4 X S2) X 3600

V1, V2, V3, V4, V5I%(5), (6), (7), (8), (9)KITLY. POBKAD T, IV IAEOITASELSIC

POEZRET S
VO C1 C2 C3 C4 ¢ o)
(m/s) (kg/m®)
0.91 0.80 -0.50 0.10 -0.50 2.00 1.20
St S2 S3 S4 S5
(m) (m?) (m?) (m?) (m?)
0.44 0.81 0.46 0.81 4.00
P1 P2 P3 P4 P5 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.040226 | -0.02514 | 0.005028 | —0.02514 0 -0.00017
\4 V2 V3 V4 V5 Y
(m/s) (m/s) (m/s) (m/s) (m/s) (m*/h)
0.57 0.45 0.21 0.45 0.04 0.00
IN ouUT IN ouUT IN OK
XIN  EA
OUT: FiH
REE 2,052 m®/h

FEIBAE ECER

>

=

Z2 4SHERE B LAD/NN—D R BT

ECEDRRETHE (—BD

8A28H 84290 84308 88318 9818
Jz:8: BR | RAE [ RE BRI | RARE | A& BR | mEE | A& BR | mEE | A& BR | R
(m/s) (hr) (m3/h) (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) (m/s) (hr) (m3/h) (m/s) (hr) (m3/h)
Fic) 2} 1.6 0.2 0 1.4 20 0 1.3 15 0 08 0.0 0 1.0 0.2 0
EeER | 11 2.7 2,442 1.2 6.2 2,621 1.4 22 3,128 1.3 22 2,866 1.3 20 2,915
JEEER 0.7 37 1,507 0.7 20 1514 1.0 37 2,302 1.0 6.3 2,277 0.9 85 2,129
Jedt@ER | 07 08 1,585 09 0.2 2,037 1.1 2.5 2,400 1.2 3.2 2,633 0.9 2.7 2,052
El4:) 08 03 2,358 1.0 0.2 3,144 1.3 1.7 4,119 2.1 1.0 6,655 12 22 3,821
JdLER [ 00 0.0 0 0.0 0.0 0 25 25 5,675 31 28 6,911 23 45 5,182
LA 20 0.5 4,542 0.0 0.0 0 29 48 6,500 33 40 7429 23 1.7 5,110
HIERRE| 15 1.7 3,294 16 0.7 3,521 32 22 7,339 24 37 5,431 2.1 1.0 4808
A 1.6 15 4,258 1.8 38 4,998 0.0 0.0 0 1.7 0.2 4,620 1.6 0.3 4213
HERRA| 18 0.7 3,984 18 38 4,109 00 00 0 0.0 0.0 0 0.0 0.0 0
FRE 24 0.5 5,387 24 3.2 5,398 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0
BEERE| 16 15 3,681 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0 00 0.0 0
[0 1.8 20 5,555 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0
mmER | 15 20 3,246 0.0 0.0 0 15 0.2 3,357 0.0 0.0 0 0.0 0.0 0
A 1.2 0.7 2,637 08 03 1,683 1.2 0.3 2,693 0.0 0.0 0 0.0 0.0 0
wEEER| 13 1.7 2,963 12 0.2 2,693 1.3 1.3 2,834 0.0 0.0 0 0.0 0.0 0
’E?mE;)E 63,460 75,419 94,821 105,603 75,720 _

1675 EBDFIREERNSKRRZAMEDX DICFHD I D.

N=N==—Fau=
B R I%EDD

SHiEi A 8/17 ~ 8/13|8/14 ~ 820|821 ~  8/27 |82 ~ 9/ ~ ~ WRBEHMI) | FEXRERM®N) | REEmMI/N)
ﬂﬁ'?ri)ﬁi 1,115,609 587,526 671,187 415,023 2,789,345 624 4470

FNBIBAEE ECER

=
=




